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STATE LEVEL NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2024
MENTAL APTITUDE TEST
For Class VIII

Time : Mental Aptitude Test - For General - 90 Minutes, For Disabled (Only Blind) - 120 Minutes Full Marks : 90

Instructions to Candidates
Read the following instructions carefully before you Answer the Questions.
Answers are to be given on a seperate OMR Answer-Sheet.

1. Please write your Scheme Code, State Code, Year, District Code, Centre Code and Roll No. very clearly (only one
digit in one Block) as given on your Admission Card. Please see that no Block is left unfilled and even zeros appearing
in the Scheme Code, State Code, Year, District Code, Centre Code and Roll No. are correctly transferred to the
appropriate Block on the booklet and on the Answer-Sheet. For example, a student of Class VIII appearing from 'P'
Centre, Scheme Code '3', State Code '20', Year '24’, District Code '88', Centre Code '88' with Roll No. '888", will
make entries in the Block as well as darken the related circle by a Blue or Black Point Pen as under :-

Sgee [ 8o [ vear ] Dlaict T Comio T " pono,
12/10] | [2]4]|[8]8][[8]8]|[8]8]8]
@ OXORNOIONNOXORNONORNOYOXO)
@ | JORN JORNOIORNOIORMEONORO)
@ XORNOICNNOIONNOIORNOYOXE)
®@ CXOHECY BECIONNCOCICHNCIOKC)
® CJCHNOICAROCICHNOICHROICXE.
® GG RCICHENGCICENCICHRGICKC)
@) O NCICENOICENCIONNOIGIO)
® CJCHNCNONN X BN X BE X X |
® OXOREOYORBOYORNOYORMNOYOXO)
©) O M ECICHRCICH RCICHRCICKC)

For all subsequent purposes your Scheme Code, State Code, Year, District Code, Centre Code and Roll No. shall
remain the same as given on the Admission Card.

This Question Paper consists of 90 Questions.
All questions carry 1 mark each.
Since all questions are compulsory, do not try to read through the whole Question paper before beginning to answer it.

Blank space has been provided for rough-work at the end of each subject.

L

Remember you have to darken the circle of Answer-Sheet by a Blue or Black Ball Point Pen only; do not use a
pencil.

7. Answer to each Question is to be indicated by darkening the circle by Blue or Black Ball point pen only, the correct
alternative in the Answer-Sheet from amongst the ones given for the corresponding Question in the question-
booklet.

8. Now turn to the next page and start answering the questions.
9.  English version of the question paper will be considered as final in case of any dispute arising out of the variation in translation.

N.B.: Do no write on Question-Booklet anything except the Scheme Code, State Code, Year, District Code, Centre
Code and Roll No. However, Rough Work can be done anywhere in the space provided for it in the Booklet.



MENTAL ABILITY TEST AP JFgar gO&m

Time : For General - 90 Minutes, For Disabled (Only Blind)-120 Minutes 4 : WM % foie-90 fie, s (o EM) % forg-120 e
Full Marks : 90  TIf% : 90

[MAT-1]
Questions 1-5 Select the number/group in which ¥ 1-5 3§ ®em/aqe & @09 X, Ped &
the relationship between the given numbers el & a9 gE g9y 2, o gey e
is the same as that between the numbers in T B demelt & 9 ¥ 1 Ry T faeew & A
the following group. Select the correct & T H AT T |
answer from the given options.
1. 718,31
(1) 6,13,21 (2) -3, T,"15 3) 2,17, 14 4) 5,625,6
2. 2,4,8
(1) 13,26, 52 (2) 12, 14, 18 (3) 12, 14, 48 4) 4,8, 12
3. 4,9,16
1) 3,7, 14 () 14,19, 26 3) 1,4,9 (4) 24,29, 36
4. 8,27, 64
(1) 28,227, 264 (2) 18, 37, 164 (3) 64, 125, 216 4) 82,272, 642
5. 5 19
(1) 4,7,13 (2) 15,19, 117 3y 3.5, 11 4) 4,8,16

Questions 6-10 In the questions given below, two  yeq 6-10 13 RF o ys7 ¥ fre G) D TE AR

words/letters/numbers are given on the left 9 /R /e By MUy, R o @ T
side of the symbol (::) which have some % w6y ¥ | i o wER @ ddT, R ()
relationship with each other. The same type 3 o avw & Ay =R | ’

of relationship should also exist on the right
side of the symbol (::).

For this select the appropriate option in the D U @l e F SRE o e (st
blank space which is your answer. W) B =G FHIT

3



10.

Gun : Bullet :: Torch : ?
(1) Fire (2) Battery
(3) Candle (4) Darkness

Charminar : India :: Pyramid : ?

(1) Vatican (2) England
(3) Canada (4) Egypt
"3 R " A S s

(1) 16 - 17

(3) 13 4) 18
125320 718 2

(1) 15 (2) 30

3) 35 @) 42
SHOW : OWHS :: FOUL : ?

(1) UFOL (2) ULEFO
(3) ULOF (4) UOFL

Questions 11-17 In the following questions,

11.

12.

13.

14.

choose the odd/mismatched option as your
answer.

(1) Marker (2) Book
(3) Chalk (4) Pen

(1) Pyramid (2) Circle
(3) Cuboid (4) Cylinder
(1) Listening (2) Climbing
(3) Swimming (4) Running
(1) MN 2) Jp

(3) AZ 4) BY

6.

10.

93+

11.

12.

13.

14.

[MAT-2]

TgH - M A ;2

(1) & (2) Jeh
(3) Hrwewil (4) sgHR
IRAAR = ARG = e : 2
(1) afes 2) gave
(3) F=T 4) =
2413107

(1) 16 2) 17
(3) 15 4) 18
122018

(1) 15 ) 30
(3) 35 4) 42

SHOW : OWHS :: FOUL : ?

(1) UFOL (2) ULFO

(3) ULOF (4) UOFL

11-17 F=fakag 9ot & Y U foedt & 9
% o % faww/a0d B, @ oe S & &Y ¥

e |

(1) = (2) g«
(3) dfeh/Eeit 4) /™
(1) R 2 g

(3) =™ (4) S
(1) g (2) =@
(3) T @) A
(1) MN ) Ip

(3) AZ (4) BY

4)



15.

16.

17.

18.

19.

20.

21.

(1) 61 (2) 97
(3) 51 4) 89
(1) 13-104 (2) 15-120
(3) 12-96 (4) 16-118

(1) Hole : Driller (2) Photo : Frame

(3) Cut : Knife (4) Paint : Brush

Alok is nineteenth (19th) from the top and
thirty-eighth (38th) from the bottom in a
class. How many students are there in the
class ?

(1) 55 (2) 56

(3) 46 4) 57

There are five girls in a group, each of
different height. H is shorter than E only. F
is not as tall as P. P is younger than G.
Which of them is the shortest ?

() p ) F

3 G (4) E

If the fourth day of a month is Saturday,
then which day will be 5 days before the
26th day of the month ?

(1) Monday (2) Tuesday

(3) Friday (4) Sunday

If the day before yesterday was Friday, what
will be the third day after the day after

tomorrow ?
(1) Thursday (2) Friday

(3) Saturday (4) Sunday

15.

16.

18.

20.

21.

[MAT-3]

(1) 61 2) 97 -
(3) 51 4) 89
(1) 13-104 (2) 15-120
(3) 12-96 (4) 16-118
. (1) 8% : R (2) B ;%A
(3) ®eA:AF (4) YoE o EA

s Th Fa 7 S & 193 (S+id) WM W
T Ok e & 38F WM W R owr § Reem
feremeft ® ?

(1) 35 (2) 56

(3) 46

W WE F U defedl B TO% @ o
AT 2 | HIdad EA BN R | F, P&
ot @t R 1 P, G B B | o @
F g9 B & ?

(1) P @) F
36 4 E

IRk et A @ AW RE gfER B, O 9
% % 263 &9 ¥ 5 9 wed d9-ar R=
BT ?

(1) dFaR (2) HRER
(3) TER 4) ear

e GRE PRAR AT, A SO IRE B | A
f&s =/ 8 ?

4) 57

(2) g
4) UeEar

(1) TeaR
(3) 9FaER

o)



22. Look at the picture carefully and select the
correct number for missing space.

(512)

23.

24.

25.

(81) (729)

o)
(1) 444

(3) 343

Find the missing term in the given picture.

64

6 2

@®)

49

(2) 515
(4) 373

3

(1) 23
(3) 6

What will be the appropriate letter in place
of the (?) in the picture ?

(2) 5

@) 25

[MAT-4]

R W wW AW W ga o @ R @

& & 9T B |
81) (729) (64 (512) (49) ?

® @®) )
(1) 444 ) 515
(3) 343 4) 373

. BRI T RE A g9 A W

64 49

61" 4 | 3
(1) 23 @) 5
3) 6 @) 25

. Byt 7 () e 3 W W SR RS-

R ?

C/ 1 \A L \B

E F
(I S 2 R
3) Q 4) N

What number will be in the circle on the

blank space ?

S e O,

) 1011
4) 1031

(1) 1001
(3) 1021

E F H
I S (2) R
3 Q (4) N

. Req ®m W g9 & - der amm ?

s

(1) 1001 (2) 1011

(3) 1021 4) 1031

(6)



26.

98

28.

29.

30.

Choose the ven-diagram that best shows the
section below.

State, District, Town

(1) 2 3) 4)

Which figure correctly represents the
relationship between shirt, trouser, clothes ?

§16)
o'

¢y (4)

If A means '+', D means '+', P means 'x'
and S means'-', then what is the value of
68A48D2S8P10 ?

(1) 46 (2) 64
3) 12 (4) 500
If, 5+7+2=725

6+9+0=906
then, 8+4+3=?
(1) 818 (2) 384
(3) 438 (4) 834

Six (6) Persons Vinay, Madhav, Nilesh,
Sagar, Arvind and Rajesh are standing in
two rows facing each other and there are
three persons in each row.

[MAT-5]

26. 98 3 oR@ T, St A KA MU @ B wHIS
7 9§ g ® ?

5y, fora, 9

(D 2 @) 4)

27. HE-H SR FH, TG, FIS D d9 b Gy
P HE-GE & § ?

e 32
5°G

(1) @ 3) “)

28. g AF ot '+, D oo '+, P oo
'x' A S H I -, B @ 68A48D2S8P10

& HH TR ?
(1) 46 () 64
(3) 12 4) 500

29. I}, 5+7+2=725

6+9+0=906

@A, 8+4+3="2

(1) 818 (2) 384
(3) 438 4) 834

30. 8 (6) A fag, WrgE, AW, IR oRfa<
AR T & il ¥ o g B A @S ©
AR &Y dfe & W eafe B

()



31.

32.

33.

* Nilesh is exactly between Arvind and Sagar.
® Nilesh is not in front of Vinay.

® Madhav is in front of Arvind.

then, where is Rajesh standing ?

(1) In front of Vinay

(2) Inbetween Vinay and Madhav

(3) Between Vinay and Arvind

(4) In front of Sagar

Six (6) boys P, Q, R, S, T and U are
standing in a line facing north. P and Q are
not at first or second position. R and S are
always together and R is at one end. S is not
on the right of R. Who is standing at the
western end ?

(1 S 2) SorU
) T 4 TorU
Four friends are sitting around a rectangular

table. Ramesh is on the right of Suresh and
Mabhesh is on the left of Lokesh. Which two
friends are sitting facing each other while
Lokesh is on the left of Suresh ?

(1) Ramesh and Lokesh
(2) Ramesh and Suresh
(3) Mahesh and Lokesh
(4) Suresh and Lokesh

Which of the following options represents
the meaningful sequence of the words given
below ?

(a) Plants (b) Thread

(¢) Seed (d) Shirt

(e) Cotton

(I) c,a,b,e,d () C,:a, ¢, b,d
3). a,¢,b,d, e (4) a,c,b,e,d

31.

32.

33.

[MAT-6]

° e I SRR W ETR B S H B

o e, fFa & are TE R

* HEY, S & A ¥ |

al, TS Ber Ger B 7

(1) fava & a9q@

(2) o &Ik we & o=

(3) fama IR el & o=

(4) R % q9Q

B (6) W P, Q, R, S, T 7 U & Uik &
ST B IR G F TS | P ar Q wew @
TR WM W T ® | Raw S edw 99 §

RUE BR W' | RDeF Sad ¥ | qidad
BR W &N g 8 ?

(1) S 2) SaU
3) T @4 TaU

I e Th AR A 3 ARt o 93 ¥
@Y, QU F M R a1 TR, A B
AR | -8 D T &2 ¥, o
o], I F T8 B ?

(1) Y T AD
(2) @A M G
(3) HRW Td Wl
4) T AR B

et foshedt & #i9-w fowes 9 RY gu o=
Pl WEE 9 T B ?

(a) e (b) arT

(c) dwt (d) et

(e) U™

(19sq¢,ab,-e,:d (2)::6, Aelh b,.d
(3) a,¢,b,d, ¢ 4) a,c,b,e,d

8)



34.

35,

36.

37.

38.

In a code language LOSE is written as 1357
and GAIN is written as 2468, then the digits
84615 symbolize which word ?

(I) NAILS (2) SNAIL
(3) LANES (4) SLAIN

Arrange the following words according to
the dictionary.

(i) Matter
(iii) Mockery

(ii) Motive

(iv) Manage ‘

(v) Movies

(1) @), (@), (i), (v), (iii)

) (@), (i), (ii), (v), (i)

@3) (i), (i), (@), (iv), (v)

@ (@), (@), (i), (i), (v)

Sumit walked 8 meters towards North and
turned right and walked 16 meters. Then
turned to his left and walked 5 meters. He

again turned left and walked 16 meters. How
far is he now from his initial position ?

(2) 23 meters
(3) 13 meters (4) 16 meter

One third of Ramesh's marks in Arithmetic
is equal to half of his marks in English. If
Ramesh got 150 marks in both subjects

together, then how many marks did he get in
English ?

(1) 60 (2) 120
(3) 30 4) 50

My age is 2 years less than twice the age of
my brother. If I am 16 years old then how
old is my brother ?

(1) 32 meters

(1) 7 years
(3) 10 years

(2) 9 years
(4) 14 years

34.

38,

36.

37.

38.

[MAT-7]

it ek e W § LOSE #1357 foran o &
AR GAIN & 2468 ferar sien 8, ar 84615
3% 9 9= & el 8 ?

(1) NAILS (2) SNAIL
(3) LANES (4) SLAIN

Fe1 o=l & a3 & OTFER e
B

(i) Matter
(ii)) Mockery

(ii) Motive

(iv) Manage

(v) Movies

(1) @), @), (i), (v), (iii)

) (@), (i), (iid), (v), ()

(3) (i), (i), (i), (iv), (v)

@) (@v), (), (i), (i), (v)

g S A SR 8 Hiex Tem o & HeaK
16 diex =@ | R o 9 geat 5 Hiex

ool | g8 R a8 SR q9T ofX 16 Hex =@ |
I g8 A YR W | B g s 7

() 32 #HeX (2) 23 Hiex

(3) 13 X (4) 16 HiexX

FHEMET § T B FH H TH-[NeE Igb
ST § bl B oMY B SEX & | AR WA B
T fawat & freRt 150 ofw e, O S8 oflsh
7 foem of fret ?

(1) 60 ) 120

(3) 30 4) 50

B A WM WE H g d G A2 al A
B ARk F 16t # g o A 9 B af @
7

(1) 78
(3) 10 a9

2) 9ad
(4) 1499

®



39.

40.

41.

42.

43.

What is the total number of triangles in the
given diagram ?

(1) 18 (2)"17

(3) 16 4) 15

Which group of letters placed sequentially in
the blank space will complete the given letter
series ?

XY _KX_7ZK_YZKXYZ__ _

(1) ZYKXZ (2) ZKXYK

(3) ZYXKX (4) ZXYKX

Select the word from the following options
which cannot be formed using the letters of
the given words. The word being given is -
CORRESPONDENT

(1) SPEED (2) ORDER

(3) SPOON (4) ARREST

The number formed by the sum of whose
words will be the largest ?

(1) BORE (2) ROOM

(3) MORE (4) RARE

Lalit is older than Prakash and Kishor.
Mukesh is elder than Rakesh but not as old
as Lalit. Prakash is younger than Rakesh,

but not the youngest. Who is the oldest ?
(1) Lalit (2) Mukesh

(3) Rakesh (4) Kishor

39.

40.

41.

42.

43.

[MAT-8]

RY o Yer R F g B @ e R
37

(1) 18 Q) 17
3) 16

R N H-T TS B Gl WM W FHAR
W@ A AT SR B G B 7

@) 15

XY KX_.ZK G YIRXYD i
(1) ZYKXZ 2) ZKXYK
(3) ZYXKX

fr= faeeedl & | @8 9= gig, S RY T 9=
% OTEl H YA Hb el SEEl o Gl § |
faar o @1 =5 ¥ - CORRESPONDENT

(4) ZXYKX

(1) SPEED (2) ORDER
(3) SPOON

fraeh =i & A | oS dew wEed 9
et ?

(1) BORE

(4) ARREST

(2) ROOM
(3) MORE (4) RARE

g # dferd, FES R RRIR & ST B 1 A,
[ TN & U, e e g9 T R
TS, THA B B, AT 9 BieT T B
T ST B & ?
(1) e

(3) BT

(2) bl
(4) fpaMR

(10)



44.

45.

46.

47.

48.

Look carefully the magic square and find the
missing number from the given options.

I R L e

29 | 2 | 43

50 | 57 | 64
(1) 34 () 50
)~ 33 4) 36

There is a difference of 50 years in the age
of X and his grandfather. If after 6 years the
sum of their ages will be 152 years, what
will be their present age ?

(1) 24,74 ) 26,76

(3) 45,95 4) 25,75

Ramesh is brother of Amit. Sushma is sister
of Satish. If Amit is Sushma's son, then how
is Sushma related to Ramesh ?

(1) Father (2) Brother

(3) Son (4) Nephew

Anjali says, "He is the only son of my
sister's brother's father. How is that Person
related to Anjali ?

(1) Uncle (2) Cousin

(3) Brother (4) Father

Ramesh and Sita are husband and wife. He
has three daughters and each daughter has
also a brother. Then how many men are

there in total in the family ?
(1y .4 @) .3

3 2 “4) 1

44.

45.

46.

47.

48.

[MAT-9]

Wigs @ B oA | 3 w9 Y T feed § @
< G F oY -

8 [M9™ ] uF
29 | 2 | 43
50 | 57 | 64
1) 34 2) 50
3) 33 @) 36

X 3R I9% el H g F 50 af # SR
g1 AR 69 a' IH Mg & AN 152
BT, T Il aaH g T Brl ?

(1) 24,74 (2) 26,76

(3) 45,95

WY, AT H AE T | GO, TAA B TBA S |
S, O w2, @ WG F GO & R
Heg B ?

(1) foa (2) ¥

(3) @ (4) st

ol FEH 8, ‘98 AU oI B W B M W
SHAT 9 © |7 98 AR ofeel § fhE meR
et B ?

(1) =T (2) =& M

(3) (4) fom

WY @ G of-ue § o 3 AW gt
AR UA% P B wE R B @ oW R
IReR & %A fra gy @ ?

4) 25,75

(B4 2 3

3) 2 “ 1

(11)



49.

An insect is moving in a straight line. It
travels a straight distance of 15 cm per
minute and also moves back 2.5 cm. How
much time will it take to cover the total

distance of 1 meter in this way.
(1) 6.5 min. (2) 8 min.

(3) 10 min. (4) 12 min.

Questions 50-51 Some equations are solved on

50.

51.

the basis of a certain operation. On this same
basis, find the solution for the given
equation.

If, 73x17 =45
68 x 40 = 54

then83 x 15 = ?

(1) 49

3) 69

(2) 64
@) 79
If, 7x8 =49 :

4x4 =12

6x4=18
then9 x 6 = ?
(1) 54 () 50

(3) 45 (4) None of these

Questions 52-56 Which of the four options given

52.

below represents the meaningful sequence of

the four words given below ?
(i) Key (ii) Door

(iii) Lock (iv) Room

1) (@v), (i), (@), (i)
3) (), (i), (i), )

2) @, @), (i), (v)
@ (@), (i), (iv), (iid)

49.

[MAT-10]

w T G e § uw @ ¥ g o e
S 15 Ao, g @@ B@ ¥ @ 2.5 /A
q f @ ST & 1 39 UER q A 1 Wl H

T TG H & S0 Rha wWA @ 7
(1) 6.5 e () 8 e

(3) 10 fFE 4) 12 fFe

Se 50-51 Fp Wi o fifved Wi & STE

50.

51.

qq

52.

woed R T ¥ T o W RA T @
T & Y & S i |

AR, 73x 17 = 45
68 x 40 = 54
@ 83x15=7
(1) 49
(3) 69

qﬁ’

(2) 64

@ 79

7x8 =49

424 =12

6x4=18

@ 9x6="7

(1) 54 ) 50

(3) 45 @) T BB T

52.56 Ry M X fwed ¥ O dA-A
ﬁw%%&wma@wwﬁiﬁma&ﬁm
-

(i)
(iii) T

(i1) FET

(iv) &

) Gv), (i), @), @) @) @), (), i), (v)
@) (), (i), (i), Gv) @) @), (i), (v), (iid)

(12



53

54.

535,

56.

(i) Ocean (i) Pond

(iii) River (iv) Sea

(1) @), @), (@), Gv)  (2) (i), Gii), (iv), @)
@) (i), G, (@), Gv) @) (@), @), (i), (i)
(1) Farmer (i) Seed

(iii) Food (iv) Farming (Ploughing)
1) @, G, Gv), Gi)  (2) (), (i), Gv), ()
@) (i), G, (), Gv) @) (@), (), (i), (i)
(i) Adulthood (ii) Infancy

(iii) Childhood

(D) @, (i), (iv), (ii)
@) @), (iv), (i), (i)
(i) Frog

(iv) Adolescence
(2) (i), (i), (iv), ()
@) @, (i), (ii), (iv)
(i) Garud

(iii) Grasshopper (iv) Snake
(v) Grass

(1) (i), (iv), (ii), (v), @)

@) (), (i), (v), (ii), (iv)

) (), (iid), (i), (iv), (ii)

@) (), (iii), (iv), (i), ()

Questions 57-60 Study the following arrangement

57,

carefully and answer the questions given
below -

39181258636425285264514947327259

How many 2's are there in the above
arrangement each of which is immediately
preceded by a digit which has numerical
value greater than 5 ?

(1) Five
(3) Two

(2) One
(4) Three

53i

.

35

56.

Q3+

[MAT-11]

(i) HEEFRY (ii) T -
(iii) & (iv) ¥Y%

(D) (@), i), (iD), (v) (2) (i), (i), (v), ()
(3) (i), (i), (D), (v) @) (iv), (@), (i), (ii)
(i) e (i) o=

(iii) Ao (iv) @t ()

(D @, @), (v), (i) (2) i), i), (v), (@)
@) (i), (i), (@), (v) (4)  (v), (@), i), (ii)
(i) S (i) v

(iii) FE (iv) fepsmrarean

) @), (i), (iv), () ) (i), (i), (i), ()
() (i), (), (i), ) @) (@), (), (i), (iv)

(i) Heh (i) T&E
(iii) feger (iv) ®rq
(v) 99

(1) (i), (i), (i), (v), @)
@) (), (i), (v), i), (iv)
) (v), (i), (@), (iv), (ii)
@) (), (i), (iv), (ii), ()

57-60 fFrfifed e @ @Myde
G FHvT X Y RY T ogE F S
aﬁm_
39181258636425285264514947327259

57. SWEd Faen & fhan 2 R, R @ e @

3% TBd UH Ik B, BwH 5 A ofE @
&S 0 8 7
(1) = 2)
3 @ 4) @

(13)



58.

59.

60.

61.

62.

Which of the following numbers is seven to
the left of twentieth from the left in the
above arrangement ?

(1 3 2) 9

3) 2 4) 7

If all the even digits are removed in the
above arrangement then which of the
following digits will be tenth from the right
in the new arrangement ?

(1.9 21

@3 3 @) 3

How many such 1's are there in the above
arrangement, each of which is immediately
followed by a perfect square ?

(1) Five (2) One

(3) Two (4) Three

John's age is 42 years and Johhy's age is 26
years. How many years ago was Johny's age
half of John's age ?

(1) 6 years (2) 4 years

(3) 10 years (4) 8 years

The present ages of three friends are in the
ratio of 6:7:8. The sum of their ages five
years ago was 48 years. Find their present
age in years.

(1) 24, 28,32 (2) 18,21,24

(3) 30, 35, 40 4) 12, 14, 16

Questions 63-67 In the questions figure, the

relation that A has to figure B is the same as
that of figure C on the right and to any one
of the four answer figures given.

S8.

59.

60.

61.

62.

[MAT-12]

Prferfe & & @ @ Hear SdE FHae
B q diedt | o ® 7

1 3 Q2 9
3) 2

A I Faen § g % o v R o
¥ Q frffed § @M-ar off, T e @
ad ok & &qar e ?

4 7

(1% 2 1
(3) 3

I e § @ B 1§, B 8 e
% &% a% TH I a1 8 7

@ 3

(1) o= Q)

@) @ 4) a9

S @ oty 42 af ¥ X et @ ey 26 T
Y| P ad Tew O @ oy S @ oTg
o ot ?

(1) 6T ) 498
(3) 10 a9 4) 8ay

& Rt @ adEe oy 6:7:8 B oI & ¥
dfe o U, S g AN 48 Y o | S

qaa oy a9 F S| B |
(1) 24,28,32 (2 18,21,24
(3) 30,35,40 (4 12,14,16

9T 63-67 U o § A F O Hay ST B @

¥ g dey ol C @ T o R T AR
T oTRRrE & A Rt T IR T A E

(14)



Choose the correct answer for the blank
space from the figure options.

Question Figure (STSFT \'ﬂFEﬁT)

[MAT-13]

Req wH g @& o, ol fowedt - &

K |

Answer Figure (It ST)

63.
For S ISt T 9 /X S FN /R
R AR e ' N4 Nl
A B € D 1 ) €©)) )
64. Question Figure (97 3Tepfr) Answer Figure (ITX 1)
A B G ‘D (€Y @ 3) “
65. Question Figure (77 3Tepfr) Answer Figure (IT% 3Te)
O
S| 7] [doe ote (5 | B
A B G D (1) (@) 3) 4)
66. Question Figure (427 3Trepfer) Answer Figure (I 3TefT)
©) X |0 A | a L al= a |+ c | = T
? M><
Sl e LG D o e
A B e D 1 2 3) )
67. Question Figure (497 ) Answer Figure (ITY STf)
x | x - o x 0 x
0 o x| o[x ? X o x o
X X (o) x O X
A B i D Y] @ 3 4

Questions 68-77 In each of the following
questions, three figures are given on the left
and the place for the fourth is blank.
Question figures are in a series. Find out
which of the Answer figures given on the
right completes the series.

g9 68-77 Fiifhd U@ g A 9 o AN
qe-oTepferdt & T ¥ qer At TRy @ e
Rert B | 997 oTepfordl U e F ¥ 1 uar B
@ ot & E s omphEt § | -
BN 30 G B T B B

68. Question Figure (97 aTef) Answer Figure (It )
| ol =
H—o o—% —{—@ ? o N yd Em
A B C D Y @) 3) “
69. Question Figure (97 3Tef) Answer Figure (T 3Tef)
7 . ol e
A

B &

1

2

(15)



70.

71.

72.

i

74.

75.

76.

77.

Question Figure (J¢7 THf)

[MAT-13]

Answer Figure (St 1)

-

SoISSHIS P

O | D |

B c

1 @ 3) 4)

Answer Figure (STX Tf)

Question Figure (I%7 ST

ly ?] ly A A ) &)
X X X X X X X X X X X X X X X X X X X X
A B C 1) 2 3) “)

Question Figure (98 STr)

Answer Figure (IT Cﬂ'l'cﬁﬁ)

PSP

S et

Question Figure (987 1)

(D 2 3 C))

Answer Figure (ST 3Tf)

(|
\a] /

D | P | D@

A B ©

Question Figure (987 )

eY) 2 3 4)

Answer Figure (STX 3Tf)

=R

A B (@

Question Figure (M7 3TIRT)

eY) 2 3) 4)

Answer Figure (St ST%f)

¢ <=

< | T || =6

A B C (1) ) 3 4)
Question Figure (98 ST%f) Answer Figure (I9X )
0O0000| 0000 000 o 000 o0 (o))
== p— T = B S
A B '3 (1) @) 3) €]

Question Figure (I STf)

Answer Figure (ST a15f)

X X X XX
X X X X |y
X X X X | %
X X x X
X X X
A B C (e (@) 3) )

(16)



Questions 78-86 In the questions given below,

78.

79.

80.

81.

82.

83.

84.

there are four Question-figures on the left
and the fifth place is blank. There are four
Answer-figures on the right. All four
questions figures represent a certain series.
Select a figure from Answer-figures that
completes the series.

Question Figure (¥ )

[MAT-13]

ysq 78-86 i ¥ U yd% U F I oY =W

g TREl & SR uedt @ wW Red ®
TE R IR SOX omgfdr § 1 9 ¥ed
gt wh ffRed e awid ¥
Jpierdl § &/ U Ul oMy H 9T B SN 3
4G B A HEA B

Answer Figure (ITX 3Tf)

o

e

.@.

A B C D 1 ) 3) “)
Question Figure (95 Tty Answer Figure (I 1)
A B C D ey ) 3) “)
Question Figure (727 TR Answer Figure (IT¢ amef)
e} S i - o s
\ Il | # 7 |l ==
o O oo
A B C D 1 2 3) (4)
Question Figure (97 37if) Answer Figure (ITX Tef)
FEE W o0 N I i B .
o~— —e|o— —e o— [ o— |"e— |["—e
y \ J v ¥ y Y Y
A B C D ey 2) 3) C))
Question Figure (smr Sllﬁgﬁf Answer Flgure JTX GHFEET
A
Question Figure (957 Gﬂiﬁﬁf) Answer Figure (B?R’ an%gi%r)
e [T N P TN O W P Ty | Y e, Ve S GGG
.7 Coo ] Tl
S A N e 5 Nogint | e | SRR
A B C D 1) @3 3) “)
Question Figure (Y87 1) Answer Figure (3% 1)
X  a X ™ - o X
o o o o o X o o o
+ X X  + + X X% =+
A B C D ey 2 3) “

(17)



8s.

86.

87.

Question Figure (987 )

o B ® o o
® o ® ol ? ® o|®
® o E ® o
A B © D E (1 03] 3) (C))
Question Figure (I 3Tefd) Answer Figure (It 3Tef)
o ol | 1=1=L ] , R e S
=3 b= o | Jo : G2 =1 =t o
A B C D E (H 2) (€)) 4

[MAT-13]

Answer Figure (ST¥ 3T)

The name of which Indian city will be
formed by arranging the following letters ?

RSARTIAM
(1) TRIPURA
(3) MANIPUR

(2) BANARAS
(4) AMRITSAR

Questions 88-90 Study the diagram given below

and choose the answers to the questions
given below.

10X 25

120 /17 [15\3

P gO ) ‘M /\ Person drinking tea
/ \>< O Person drinking coffee
20 [ Person drinking cold drinks

88.

89.

90.

Number of persons who drink only coffee ?
(1) 25
(3) 20

Q) 45
) 90

Number of persons who drink both tea and
coffee ?

() 7
(3) 20

(2)-.17
4) 25

Number of persons who drink all tea, coffee
and cold drinks ?

(1) 15
(3) "3

Q) 32
4) 24

87. fr=foiad ol &l gaRyd & WX fhe ARAE
IET T A S 7

RSARTIAM
(1) TRIPURA (2) BANARAS
(3) MANIPUR (4) AMRITSAR

qeT 88-90 F= RY T oMW H FLIA HivC T
¥ RY e B S RY W faeedt H @
ﬂﬁr\y_

10X, 25
[20 /17 {15\ 30 J40] A =m 9N a =
AT Lt

20 [ % R 09 am =
88. U il @ deEw S daw B G © 7
(1) 25 (2) 45
(3) 20 4) 90
s9.§am@wwﬁm@rmaﬁma
?
(1 7 2) 17
(3) 20 4) 25

90. ¥ A F T N TW, W T
Free-Fa gt a2 ?

1) 15
(3) 22

2) 32
4) 24

(18)



For Rough Work Only
(Faw oot e B )
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For Rough Work Only
(P oot #d & o)

EN
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